DU MA Political Science

Topic:- DU_J19_MA_PS
1) Which of the following statement is correct with regard to Raja Rammohan Roy?

ST IHETEA A B AR F Frefolag § 9 19 91 e 9 27
[Question ID = 3044]

AT & e J fava

1. Belief in the existence of the soul / [Option ID = 12174]

UF qreifie wate g § favarg

2. Belief in one Universal Supreme Being / [Option ID = 12173]

qg & 91e ofleq W faward

3. Belief in life after death / [Option ID = 12175]

GLEI ekl ,
4. All of these / [Option ID = 12176]

Correct Answer :-

« Belief in one Universal Supreme Being / [Option ID = 12173]

2) Which of the following books described state power in India as occupying a continuum with “centralisation and
concentration” at one end and “decentralisation and pluralism” on the other?

frafafla # & Fla & qras 9Ra & Uo7 AFFT F1 3oia FId §T TE Fecl ¢ 1 Tg T AR Fegiienor 3R Fhaor 3R g@dr iR R 3k
TgAERE” & Wiaca® (Flediegw) # yafewd §?

[Question ID = 26101]

3 WRYsc 31h el
1. In Pursuit of Lakshmi / 5 [Option ID = 44399]

siegra difeifcda SHIAMI, 1947—1977— T Uardl Releger

2. India’s Political Economy, 1947-1977-The Gradual Revolution /
[Option ID = 44402]

uﬁ |'_E L= L= o 'l
3. The Political Economy of Development / < P 3 ISdetdHc [Option ID = 44401]

T W ve ufadt g9 =l

4. The State and Poverty in India / [Option ID = 44400]
Correct Answer :-

3 WYgsc A el
o In Pursuit of Lakshmi / b [Option ID = 44399]

3) Which of the following does not figure in Almond & Verba'’s classification of Political Cultures?

frefafad A 9 oS ok 9af g I ifae ST $ e § AW g1 o 37

[Question ID = 3051]

Aol T Ih 0T
1. Evaluative orientation / [Option ID = 12203]

IR EEI G

2. Cognitive orientation / [Option ID = 12201]

3. Affective orientation / l E I [Option ID = 12202]

4. Empirical orientation / [Option ID = 12204]

Correct Answer :-

« Cognitive orientation / [Option ID = 12201]



4) Which one of the following is a transformationalist view of globalization:

frrafefaa o © o9 dediso &1 oRadTard) gfies 27

[Question ID = 24102]

1. Globalisation is not leading to the withering away of nation states rather to the emergence of a conspicuously global politics in which the
traditional distinction between domestic and international affairs is not enough meaningful. / 3SdIIoT & HROT ISC-ITAT T &TUT 7787 &1 ET §,
Sfedh Teh U AfSaeh TSI T 36 &Y @T &, Forasie 31 ee] AR HeRTsG ArAell & qRURe IR 31 Sgd SArar Jrifaren =7t & 713 § [Option
ID = 36409]

FTdHIOT B BN HI =T BT &R B T B

2. Globalisation is bringing about the demise of sovereign nation-state / [Option ID
= 36405]

3. States and geopolitics remain the principle forces shaping contemporary world order. /

T FR e et o wReeie faza cawen Bt arer 39 arll e afEat 51 g 2 [Option ID = 36406]
4. Geopolitics, state power, nationalism and territorial boundaries are of growing, not less, importance in world politics. /
foreg wreifey § s, IS W, WUsare v q-asn el o 95 B9 el gl 2, 9o wuH aiy

i @ % [Option ID
= 36407]

Correct Answer :-

FeIHIOT RO W, A—=g HT A0 B T B
« Globalisation is bringing about the demise of sovereign nation-state / [Option
ID = 36405]

5) Which one of the following is not a text related to Classical Realism?

frafaf@a # @ #la @ qras sl gurdar § @3t 78 82

[Question ID = 26125]

oiferfeaa am=T =g
1. Politics among Nations / [Option ID = 44498]
2fors! & e giay uifefess
2. Tragedy of Great Power Politics / [Option ID = 44496]
T g
3. The Prince / [Option ID = 44497]

4. The Peloponnesian War / T YelHRET ar [Option ID = 44495]

Correct Answer :-

« The Peloponnesian War / = el RE N [Option ID = 44495]

6) Which among the following can be associated with Aurobindo’s beliefs?

fr=fafaa # @ 59 orfdT @ favaral @ Wrer o 9ear 27
[Question ID = 26111]

1. His conviction that he did not regard the country as an inert object, but as Mother / 3=TeT Ig To-fvur o & &3 1 U (TSR a&q =81 afoh
AT AT [Option ID = 44441]

2. His resolve that he would not merely repeat the name of God, but have direct realisation of Him / 35T I8 Te-sag $r 3 7 A% Seax & A1
I SNV diedh IHAT FedaT 31gs{fer #ff S¥aT [Option ID = 44440]

3. That his education and talent belong to God which could be utilised for personal happiness alone / & 3=Tehr RieTr 3R ufdsT Seax A GefRT &
TSRt 3uteT fth safedera el & frw faam ST @k & [Option ID = 44439]

4. All of these / 3T T3t [Option ID = 44442]

Correct Answer :-
« That his education and talent belong to God which could be utilised for personal happiness alone / T3 3eTehT f21eTT 31X T $2ak & HafdT
¢ forgent suter R caferderd gelt & farw faam S #ear & [Option ID = 44439]

7) “I do not wish them (women) to have power over men; but over themselves.” These words are attributed to which of the
following thinkers?



“H TE aed) & 5% (Afeeme &) qewl W wfed @ W afew F aed € 5 9 ge W
wifer urer &1 i | 3 v ffaRaa d @ few faewe 9@ og g €

[Question ID = 26108]

1. Hannah Arendt / &1 3Re [Option ID = 44430]

2. Mary Wollstonecraft / #3 dreaeistshiae [Option ID = 44429]
3. J.S.Mill / &Y. wa. f&er [Option ID = 44428]

4. Simone de Beauvoir / &I g S1331R [Option ID = 44427]

Correct Answer :-
« Simone de Beauvoir / &I g SI337R [Option ID = 44427]

8) Atul Kohli links his “crisis of governability” thesis to which of the following reasons:-

e BIge] A9 U @ Hehe” (PR e TaAafad)) of i o fAEfafaa § 9 fea sreil 9 aer
#7
[Question ID = 3020]

R R J FFE AR Fad 1 TR FHR

1. Pressing problems of law & order all over India / [Option ID = 12077]

HIH Aqca BT G
2. Insecurity of the Congress leadership / [Option ID = 12078]
A AT E—3 aﬁ werfer
3. Unequal socio-economic conditions / & [Option ID = 12080]
PHIE BT GISAHD &Y
4. Organisational decline of the Congress / =l ik [Option ID = 12079]

Correct Answer :-

qRe H S e B TR
» Pressing problems of law & order all over India / EE Gﬁ-" "T‘ﬁ? [Option ID = 12077]

9) Communitarians argue that:-

TEREE] O& od & & -

[Question ID = 3032]

Y ol Y A gdar R S -
1. Communities must take precedence over nations / [Option ID = 12125]
2. Communal thinking is morally wrong / i Rt ? [Option ID = 12126]

Judigd A | Dz A2l

[Option ID = 12128]

TaRAE AFEIS FSTal B SUeT &l 8

4. Liberalism devalues communal attachments / [Option ID = 12127]

3. None of these /

Correct Answer :-
i R . = .
« Communities must take precedence over nations / [Option ID = 12125]

10) Hanafi, Hanbali, Shafii and Maliki are Islamic:-

I | g, BT, WeTh! ik wiferat @ €
[Question ID = 3045]
1. Sect-based Identities / E [Option ID = 12179]
e dad
2. Religious practices / [Option ID = 12180]

. - ST gE T -
3. Ethnic Identities / [Option ID = 12178]

4. Juridical Systems / " [Option ID = 12177]

Correct Answer :-



. g L .
o Juridical Systems / [Option ID = 12177]

11) Positive Liberty implies that:-

HHRIHS Waad] &7 aef 2
[Question ID = 3030]

ST

1. All of these / [Option ID = 12120]

e o ﬁ :
2. The state can make interventions for betterment of lives / el $ wiled EFT dzdyX &4 Eﬁ NIl E¥CRIT P Hepdll ?‘2

[Option ID = 12119]
3. One must be free to do things one considers positive /

foredT aofe &1 9 B B BT ATAET 241 AEY o< 98 APRIAS AT &
4. There must not be any constraints on the freedom of thought /

ffgm #7 s wR fRelT avE &1 B ufeey 7 g e

[Option ID = 12117]

[Option ID = 12118]

Correct Answer :-
« One must be free to do things one considers positive /

fr<fY wufed &7 @ &M A F1 ATATET B AT 5= 98 USRS AT & _
[Option ID = 12117]

12) Identify the incorrect pair

[Question ID = 3067]

Taifod faere— oy gy, U
1. Political Development—Lucian W. Pye / [Option ID = 12268]

o fagio— v ol o
2. Dependency theory—A.G.Frank / [Option ID = 12266]

3. Civic Culture—Sydney Verba / TT1e® S¥RId— TASTT @49 165400 1D = 12265]

A EI fagid— e w9

4. Modernization theory—Amartya Sen / [Option ID = 12267]

Correct Answer :-
« Civic Culture—Sydney Verba / &2 magi%— SERIRLCl [Option ID = 12265]

13) Rousseau’s idea of “perfectibility’ entails which of the following ideas?

w4 BT PEiar 3 e (Whaefifard) @ fear F Frafafag 9 @ o wfufaa 22
[Question ID = 3024]

1. Men are essentially good natured / T @1 T e
HIsg &I gi-::iﬂlﬁ' T
2. Men have no basic essence / EF\F&F :rﬁ gﬁ” g
ST F B T (00 10 = 12006]
T @Y gafa g vu o gd @

4. Nature of man is essentially bad / [Option ID = 12093]

[Option ID = 12094]

[Option ID = 12095]

3. None of the above /

Correct Answer :-

T F yRfy g v @ gh @
« Nature of man is essentially bad / N w [Option ID = 12093]

14) “If I was asked to name any particular article in this Constitution as the most important- an article without which this
Constitution would be a nullity— I could not refer to any other article except this one.” — Ambedkar was referring to which



article?

FsHy 7 59 I & IR | 9% $E U IR Ao Wu & 59 @Y eregE &1 T o @ forg
HET I, U U S ferae sy Gieus weE 8 wom— a9 # Bl o e $ a9 w9
FTE BT AW war|”

[Question ID = 3007]

3T 21

1. Article 21 / [Option ID = 12025]

AT 15

2. Article 15/ [Option ID = 12026]
) 3*1?/§§ 32 .
3. Article 32 / [Option ID = 12027]

16
4. Article 16 / [Option ID = 12028]

Correct Answer :-

ITToT 21

« Article 21 / [Option ID = 12025]

15) The thought that the ‘advent of technology and industrialisation is the basic cause of human misery in modern society’ can
be attributed to which of the following thinkers?

g8 faor fou faane | o1 g a1 &1 9adl 8 & emMe e d dedie SR e @
IeHd g BT I BROT 87
[Question ID = 3046]
1. Bal Ganghadar Tilak / L A [Option ID = 12183]
MUTel HET ARG

c

IRy S

3. Rabindranath Tagore / [Option ID = 12181]

@ e

2. Gopal Krishna Gokhale / [Option ID = 12184]

4. M.K.Gandhi / [Option ID = 12182]

Correct Answer :-

. el g SR .
« Rabindranath Tagore / [Option ID = 12181]

16) The “"Block Vote System” is also known as:-

=il die e & W oEl B

[Question ID = 26122]

1. Proportional representation / 3iTejdTieish Ficifeifeea [Option ID = 44485]

2. List system / F=T JomTell [Option ID = 44486]

3. First-past-the-post system / 3731 & faidT (FEE URe &-iee [aes) [Option ID = 44483]
4. Limited vote system / EifAd Fd Jomelr [Option ID = 44484]

Correct Answer :-

« First-past-the-post system / 3731 & fa=idT (S e g-diee fATes) [Option ID = 44483]

17) “He is the head of the state but not of the executive. He represents the nation but does not rule the nation”. Who among the
following made this comment about the President of India?

“OE VO BT FHE E, oif SISt $T FEi 98 g & ot E, oifed W o 96 Aetetes § 9 e
ARG & Ugafd & a7 | g feudf £ 2

[Question ID = 3104]



1 AN HESH _
1. B.R. Ambedkar / [Option ID = 12413]

WEN 92d ]
2. Sardar Patel / [Option ID = 12415]
3. Maulana Abul Kalam Azad / g

4. Jawaharlal Nehry /e venel TEE o ion 1D = 12414]

[Option ID = 12416]

Correct Answer :-

41 ¥R FeEEY _
« B.R. Ambedkar / [Option ID = 12413]

18) Deliberative democracy is the idea that:-

famefl SArpds 98 faaw & & -
[Question ID = 3034]

, o , At & €9 o gefledl &1 999 @ 9N foan—fauet g1 anfgu
1. People must deliberate their choice of candidates /
[Option ID = 12134]

e frar—famst ik are—faare & are fvfg ferr o afen

2. Decisions must follow reasonable discussion and debate /

[Option ID = 12135]
I BT HA AR A S @Ey

4. Preference must be aggregated / [Option ID = 12133]

3. Dissent delivers bad democracy / [Option ID = 12136]

Correct Answer :-

a¥rrare & @a 9 fear e afge
« Preference must be aggregated / [Option ID = 12133]

19) Article 371 A of the Indian constitution provides special protections to which of the following states:-

AT WieuE e a7 fyefafea ¥ 9 few g & fagy gt 9ude S g

[Question ID = 3103]

IEH iR HETe .
1. Assam and Meghalaya / [Option ID = 12410]

AERTS, 3R TeE

2. Maharashtra and Gujarat / [Option ID = 12409]

3. Jammu and Kashmir / : Laﬁ:‘r AR [Option ID = 12411]

4. Nagaland / [Option ID = 12412]

Correct Answer :-

« Maharashtra and Gujarat / R 3 LERLD [Option ID = 12409]

20) Who defined Development Administration as “action-oriented, goal-oriented administrative system”?

e Rrrer wemaer it aRem “Fr-3 ey, TaT-afere yarafae sgaea” % ¥ F #r 52 [Question ID = 26117]

1. Fried W. Riggs / WIES Swy, N [Option ID = 44463]

2. Dwight Waldo / S19= TEST option 1D = 44464]
Tsds digs-Y
3. Edward Weidner / [Option ID = 44466]

v v

g B
4. Robert Dahl / [Option ID = 44465]
Correct Answer :-

. Fried W. Riggs / 18 S, W [Option ID = 44463]



21) Who among the following termed the four different bases of an Organisation as Four (4) 'P's?

Fr=fafiad 7 9 e 984 @ 3R amR & 9 (@) fT @ $u | du fear?

[Question ID = 3062]

1. Henry Fayol / [Option ID = 12247]
2. L.D.White /W' R EE [Option ID = 12246]

Eﬁﬁ I [Option ID = 12245]
ESCCA I FUE]

3. Luther Gullick /
4. Herbert Simon / [Option ID = 12248]
Correct Answer :-

R TfeTd
o Luther Gullick /EL% [Option ID = 12245]

22) Who among the following describes India as a “polycentric hierarchy”?

fArfaf@a # & fras s 1 aufer o “agahedl TewIaT (TR gravrhl) & ou & frar §2
[Question ID = 26096]

1. Aseema Sinha / 318TAT f&=gT [Option ID = 44380]
2. M. P. Singh / wa. 91, f&% [Option ID = 44382]

3. Douglas Verney / S3Te/F gsit [Option ID = 44379]
4. Paul Wallace / dfel doiF [Option ID = 44381]

Correct Answer :-

« Douglas Verney / 33Tel =it [Option ID = 44379]

23) Who among the following is considered to have inaugurated the liberal-reformist modernisation of India?

fFefeied o 9 foae IR | g8 791 Wi § {6 SEH ARG § SeR—ERas] ARHEIDReT B e
17

[Question ID = 3042]

AT AR I
1. Raja Rammohan Roy / [Option ID = 12167]
2. Sri Aurobindo / Al [Option ID = 12168]
3. Rabindranath Tagore / [Option ID = 12165]
g 9w
4. Bankim Chandra Chatterjee / [Option ID = 12166]
Correct Answer :-
« Rabindranath Tagore / [Option ID = 12165]

24) Who among the following identified the Indian state as interchangeably “"weak” and “captured”?

frafafag 7 9 feed adm T & vg9E sed—aadad AR R R (=) & °9 4 3
L
[Question ID = 3019]

iu el E (E"q
1. Pranab Bardhan / [Option ID = 12073]

e
2. Pradeep Chhibber / [Option ID = 12076]

qrefy

3. Ashutosh Varshney / [Option ID = 12075]



el BIEA]

4. Atul Kohli / [Option ID = 12074]

Correct Answer :-

RHE .
« Pranab Bardhan / [Option ID = 12073]

25) Who coined the terms, "“Party of Consensus” and “Parties of Pressure”?

fefefiag § 9 fead “amawEafa & 20 9k "2919l @ 9o YEEd] &l 999 Usel ganT f&ar?
[Question ID = 3016]

o UTed
1. Bruce Graham / [Option ID = 12064]

HHH hda
2. Francine Frankel / [Option ID = 12063]

3. Myron Weiner / RESHCIEE [Option ID = 12061]
T BN

4. Rajni Kothari / [Option ID = 12062]

Correct Answer :-

26) In which of the following years was the Central Vigilance Commission established by the Government of India?

Arafafa # & 5 a¥ RT TR @R Fd IR 3rer A e 6 =02 [Question ID = 26115]

1. 1961 [Option ID = 44455]
2. 1964 [Option ID = 44456]
3. 1967 [Option ID = 44457]
4. 1991 [Option ID = 44458]

Correct Answer :-
« 1961 [Option ID = 44455]

27) The institution of Ombudsman was first established in 1809 by which of the following countries?

freferfad @ 9 &9 29 gRT Had U= 1809 H SAAGSHAT &1 Wil RAIfUa &1 T 2ff?

[Question ID = 3057]

1. Switzerland / : [Option ID = 12228]

2. Sweden / [Option ID = 12227]

3. United Kingdom / L [Option ID = 12226]
4. Denmark / [Option ID = 12225]

Correct Answer :-

e Denmark / [Option ID = 12225]

28) Who coined the phrase, “iron law of oligarchy”?

e & wiE e @ ufes e e

[Question ID = 3069]

figet aaf
1. Sydney Verba / [Option ID = 12274]



)

2. Harold Lasswell / [Option ID = 12276]

et
3. Vilfredo Pareto / [Option ID = 12273]

[} e

. HECAEEE .
4. Robert Michels / [Option ID = 12275]

Correct Answer :-

« Vilfredo Pareto / [Option ID = 12273]

29) What is the correct sequence of Morton Kaplan’s model of systems analysis?

i. Balance of Power
ii. Loose Bipolarity
iii. Tight Bipolarity
iv. Universal International System

Tl v & TR # AeT Siue © Atgd S Wel 3FpHA 94T 87

1. =T &1 gqe
2. ol fegdran
3. W fegdran

4. wEEIES AT SR

[Question ID = 3074]

1. iv, ii, iii, i [Option ID = 12295]
2. i, i, iii, iv [Option ID = 12296]
3. iii, iv, ii, i [Option ID = 12294]
4. iv, iii, ii, i [Option ID = 12293]

Correct Answer :-

« v, iii, ii, i [Option ID = 12293]

30) Frederick W. Taylor's concept of "Mental Revolution” stands for:-

AFS Fi | AT BeRe S=9 SR @1 JgERI Hed #

[Question ID = 3060]

1. Restricted Output and Cooperation / [Option ID = 12238]

_ _ areferawern, Hean R fafag fed _
2. Economy, Cooperation and Restricted Output / [Option ID = 12240]
3. Cooperation, Harmony and Restricted Output / Hedll, HHWIH 3ﬂq NEIEDR MR [Option ID = 12237]
4. Harmony and Cooperation / 34‘?? [Option ID = 12239]

Correct Answer :-
« Cooperation, Harmony and Restricted Output / AT, MG e’ﬁ_‘r EIECRERE [Option ID = 12237]

31) The philosophy of “dependent origination” can be attributed to which of the following traditions?

“fopiv Saafr’ & evF & A=fafiag § 9 9 u¥uwr 9 @iel o 9adl 27
[Question ID = 3040]

1. Ajivikas / [Option ID = 12160]

2. Brahmanism / ik [Option ID = 12159]



o e

3. Jainism / [Option ID = 12157]

dig o
4. Buddhism / [Option ID = 12158]

Correct Answer :-

W e
o Jainism / [Option ID = 12157]

32) Identify the correctly matched answer:-

A. Geneva Protocol i) Reduces Strategic Arms

B. Nuclear Non-Proliferation Treaty i) Limits spread of Nuclear Weapons
C. INF Treaty iii) Bans use of Chemical Weapons

D. START I Treaty iv) Bans two categories of land-based missiles

e T ¥ e IR #T I8 ST

A. SHa1 gietete i) vwrifs Tt # St

B. wwmmy frersfiew Gty 11) TveY] ERER & wER oY HET S

C. sEvew & ii1) YR ERrN ® 9uET o) ftey

D. w=E —1 Hf iv) f smnfRa fraEet @7 <t St o gt

[Question ID = 3088]

1. A-i; B-ii; C-iii; D-iv [Option ID = 12349]
2. A-iv; B-iii; C-ii; D-i [Option ID = 12350]
3. A-ii; B-iii; C-i; D-iv [Option ID = 12352]
4. A-iii; B-ii; C-iv; D-i [Option ID = 12351]

Correct Answer :-
o A-i; B-ii; C-iii; D-iv [Option ID = 12349]

33) M.M. Punchhi Commission was constituted to review which of the following:-

THTH, 9ET o fefefad # 9 fewat wien s o fom wifea g T e
[Question ID = 3010]

Coop i i
1. Centre-state relations / [Option ID = 12039]

2. Reorganisation of States / a1 E [Option ID = 12037]

- . NI BT HT )
3. Administrative Reforms / [Option ID = 12038]

HTRETIT
4. Reservation Policies / [Option ID = 12040]

Correct Answer :-

« Reorganisation of States / P E [Option ID = 12037]

34) The Duverger-Riker model tries to establish link between which of the following:-

gaoR-{ Afsa frafaf@a & & Rt J31a TaRa F3& FT 9919 FIaT 8 [Question ID = 26098]

1. Electoral system and caste mobilization / T=ATd sa€AT i ST SHsir [Option ID = 44388]

2. Party system and electoral system / &t sga&T 3 AT sgawAT [Option ID = 44389]

3. Fundamental Rights and Directive Principles / Hiferer 3R 31k ifa ewe f&gia [Option ID = 44387]
4, Federalism and Party system / TeaTe 3R el sgaeT [Option ID = 44390]

Correct Answer :-

« Fundamental Rights and Directive Principles / #ifors 31f8eR 3k ifa Ry Bgia [Option ID = 44387]



35) "Life is not determined by consciousness but consciousness by life”. The line relates to:-

“feTft aa & 99 T2 BT 8, 9fcd I RS ¥ T Bl & | a8 9reg Wefd @
[Question ID = 3028]
1. All of these / ikl [Option ID = 12112]

Jresfare &1 A1 &1 THRT

2. Marx’s critique of idealism / [Option ID = 12111]

el &1 w9 (W) @1 fagia

3. Plato’s theory of forms / [Option ID = 12110]

(nReetea) ™ <iel # aarE

4. Aristotle’s criticism of Plato / 1 [Option ID = 12109]

Correct Answer :-

I (Theted) W =ie
« Aristotle’s criticism of Plato / (‘ ) SR IEIEIE [Option ID = 12109]

36) Which of the following is false for Marx:-

AT & R A fRAfaRed § 9 $1F T9d §

[Question ID = 3027]

Yofiare FEIEE] Biefied (We—aRg@=©) F1 AR T8l o Wl 8

1. Capitalism does not lead to commaodity fetishism /
[Option ID = 12107]

2. Capitalists also suffer from alienation / i: il Rl ? [Option ID = 12106]
. _ USfEE feE S Al 8
3. Capitalism produces alienation /

AT gi-fed gdT &

4. Consciousness is embodied /

[Option ID = 12108]

[Option ID = 12105]
Correct Answer :-

« Consciousness is embodied / [Option ID = 12105]

37) “Each of them by himself may not be of good quality, but when they all come together is possible that they may surpass—
collectively as a body, although not individually-the quality of the few best...and when they all meet together, the people may
thus become something in the nature of a single person...”. In these lines,:-

g AATH § O o1 & Tl & 9T TS 0T 7 g, AT 51T I U WY A § oY I8 AAGA § F d sufaa F v A i aow o e H ew A
m’aﬁa?wﬁ wma—e}:aﬂvﬁ*mﬁﬁm\mm% AR 5T A v wrg e § mmmmmmﬁqﬁﬁﬁmmm
£ "|s=rwﬁ—cru’r#[Questuon ID = 26103]

1. All of these / 3TRYeraT TafT [Option ID = 44410]

2. Hobbes is propounding his idea of Commonwealth / 8T8 319eT STHAdY T Ta€R TEJd FX ¢ & [Option ID = 44408]

3. Rousseau is enunciating how a corporate body possess General Will / &&T Ig wfaarfed #) 1@ & & v& skuRe e & urg g kg aea
3ToT 8idT & [Option ID = 44407]

4. Aristotle is advocating for the Polity as a rule of the Many / Sgd ANt & WIHeT & 9 F 3RE] (VREelee) ifardy i aemert 3 3¢ & [Option ID =
44400]

Correct Answer :-
« Rousseau is enunciating how a corporate body possess General Will / &8t Ig wfauified &% @ & & v sRuRe Pe & g 59 Re
HATT $TOT g1l & [Option ID = 44407]

38) Match the following

Thinker

Types of Realism

a. Kenneth Watlz

i. Offensive Realism

b. John J. Mearsheimer

ii. Neo-classical Realism

c. Fareed Zakaria

iii. Classical Realism

d. Hans Morgenthau

iv. Neo Realism




Arfafad w Aems:

IEELG FATHATIE F ThR

a. $Y dlecs i. 3RS TUTHaTE

b. et o1, FireffaR ii. STa-FelTfAehel TATHATE
c. TG STeRIaT iii. T FUTaTg
d. g Ffears iv. Fa-TUTdarg

[Question ID = 26034]

l.a-iv, b-i, c-ii, d - iii [Option ID = 44132]
2.a - iii, b -ii, c- i, d - iv [Option ID = 44134]
3. a-ii, b -iii, c - iv, d - i [Option ID = 44131]
4.a-i,b-iii, c - iv, d - ii [Option ID = 44133]

Correct Answer :-

« a-ii, b-ii, c-iv, d - i [Option ID = 44131]

39) Match the following:

a. Theory of two wheels i. Kabir

b. Doctrine of Mandala ii. Buddhism
. Syncretism iii. Manu

d. Dharmasastra iv Kautilya

frrafaf@a # gafaa e sik 7@ Rwes &1 gome A

a. ar ufgar = fagra i. AR
b. Fise @i ii. Shg et
C. GHTaIAE ii. 7]
d. e iv. FfeeT

[Question ID = 26035]

1.a-iv, b-ii, c-iii, d - i [Option ID = 44138]
2.a - iii, b - iv, c - ii, d - i [Option ID = 44137]
3.a-ii,b-iv, c-i, d - iii [Option ID = 44135]
4.a-i,b-iv, c-ii, d - iii [Option ID = 44136]

Correct Answer :-

e a-ii,b-iv, c-i,d- i [Option ID = 44135]

40) Match the authors with their works

A James Scott i Perce_ption and Misperception in International
Relations
B Robert Jervis ii Seeing Like a State
C Ernest Gellner iii The Great Transformation
D Karl Polanyi iv Nations and Nationalism
ArAfAf@d AEH T 374F T3 & T AT F
A ST THIC i RATLT TS FRERARUA ST SeTaAUTol ReleTd
B e R ii AT oSk T RS

C 3T e i & JT grEmiA




|D |amérmamr \iv ‘mmﬁgmmﬁ?ﬂ
[Question ID = 26036]

1.a-ii,b- i, c-iv,d-iii [OptionID = 44140]

2.a-iii,b-iv,c-i,d-ii [OptionID = 44142]
3.a-ii,b- i, c-iii,d-iv [Option ID = 44141]
4.a-i,b- ii,c-iiid-iv [OptionID = 44139]

Correct Answer :-
e a-i b-iic-iiid-iv [Option ID = 44139]

41) Structural-Functionalism is primarily:-

AT G —gHrdarg gRifie 9 9 2 -

[Question ID = 3049]

IECAR R ARG R CEIECIE

1. An ideology of development / [Option ID = 12194]
I DT T UoA]

2. A method of governance / [Option ID = 12196]
S| @1 Td vl
3. A framework of investigation / [Option ID = 12195]

4. A measurement for comparison / [Option ID = 12193]

Correct Answer :-

« A measurement for comparison / [Option ID = 12193]

42) Structural-functionalism by Almond and Powell was an application of:-

e o didw & R SEHe—yarde Fefateag | 9 &9 an) s 2

[Question ID = 3052]

RRE U 3T FRFASH gt

1. Lucian Pye’s Modernization Theory / [Option ID = 12207]
S BT ggaad (Il ia) _

2. Dahl’s Polyarchy / [Option ID = 12206]

£ @ A<lg &1 fHg

3. Rostow’ Theory of growth / T4 [Option ID = 12208]

AT Ifcd SRl B 3 B U]
4. Easton’s framework of Political System / [Option ID = 12205]

Correct Answer :-

A To® a2 BT 352 ®1 SUEl
« Easton’s framework of Political System / [Option ID = 12205]

43) The core elements common to both classical and structural realism are:-

FATHFHS AN E=ATE JuRaE & 9= =" 99 ©

[Question ID = 3082]

1. Statism / [Option ID = 12325]

2. Survival / [Option ID = 12326]
3. All of these / [Option ID = 12328]
T—HErddn

4. Self-help / [Option ID = 12327]
Correct Answer :-

. EEREIC .
« Statism / [Option ID = 12325]



44) Which environmental Convention was adopted for the protection of Ozone layer:-

AT W B GET & o fea wafawelt aestar e T

[Question ID = 3093]

. SSEZERE IR .
1. Stockholm Convention / [Option ID = 12372]

s

2. Montreal Protocol / [Option ID = 12371]
3. Basel Convention / [Option ID = 12370]
4. Vienna Convention / [Option ID = 12369]

Correct Answer :-

) . qgT ST .
« Vienna Convention / [Option ID = 12369]

45) M.K.Gandhi wrote editorials for the first time in which one of the following journals ?

TH. &. Mt oF FFAfaf@d & o gga 5T steter & UG forg ?

[Question ID = 26112]

1. Samvad Kaumudi / SEICECT EL:“ [Option ID = 44445]
HERERCIIRIOE]

2. Indian Opinion / [Option ID = 44443]
7 gfean

3. Young India / [Option ID = 44444]

4. Calcutta Journal / PN ST [Option ID = 44446]

Correct Answer :-

gfema e

+ Indian Opinion / [Option ID = 44443]

46) Rawls introduces the ‘veil of ignorance” because:-

A ‘e &1 Ut & wEA o € it
[Question ID = 3033]

[HSTET WY €Y UP W Wie W SRY g1 i

1. Any contract must always start from a blank slate / [Option ID = 12130]

Iudd Tt

2. All of these / [Option ID = 12132]

I8 Urafas saen § @ @) Rufa & w99 e @

3. It is closest to how people were in the state of nature /

12129]
I8 qATTEga qifdbddr b W Hed BT AT 8

[Option ID =

4, It is a device to eliminate bias in reasoning / [Option ID = 12131]

Correct Answer :-
o Itis closest to how people were in the state of nature / & ¢ : q i Eﬁ m@ ?
12129]

[Option ID =

47) Match the thinkers with their ideas:

Idea Thinker

a. Application of Vedanta to the everyday life of

i. M.K.Gandhi
the common man

b. Application of the criteria of reason and social

utility to sacred texts ii. Pandita Ramabai

c. Criticism of modernity iii. Swami Vivekananda

d. Advocacy for the admission of Women to

Medical Colleges iv. Rammohan Roy




@y Riasi 3t 39F Rl # @ee:

[EELS Hh

a. 3 ST & ASRT & ShaeT & deiar & g i. T, . aifedr
;gaaﬁﬁwwmmmaﬁmw T —

C. 3MYfaehar T =T iii. Tarel fadehTetee
d. AfSFer Hlorelr F AR & yar FHr gwrerd iv. AT U
Codes/fa®eq:

[Question ID = 26092]

1.a-iii, b-i, c-iv, d - ii [Option ID = 44365]
2. a -iii, b -ii, c-i, d-iv [Option ID = 44366]
3.a-iii, b-iv, c-1i, d-ii [Option ID = 44363]
4.a-i,b-iv, c-ii, d - iii [Option ID = 44364]

Correct Answer :-
e a-iii, b-iv, c-i, d-ii [Option ID = 44363]

48) Match the following and mark the correct answer:-

A. J. Ann Tickner i) Post-colonial feminism

B. Cynthia Enloe ii) Reformulation of Morgenthau's Six Principles
C. Sandra Whitworth iii) "Where are the Women“?

D. Chandra Mohanty iv) Feminist Critical Theory

fFrfofas =1 fomey s 98 oo 90

A, S few i) whee—wieiae B

B. R g ii) Reifeier aife akemest R fifige
C. dg foemf 1il) ‘gow a® T 9

D. =z | 1v) wftfe ffeaa Brrd

[Question ID = 3086]

1. A-i; B-ii; Ciii; D-iv [Option ID = 12342]
2. A-iv; B-i; C-ii; D-iii [Option ID = 12344]
3. A-iii; B-ii, C-iv; D-i [Option ID = 12343]
4. A-ii; B-iii; C-iv; D-i [Option ID = 12341]

Correct Answer :-

o A-ii; B-iii; C-iv; D-i [Option ID = 12341]

49) Match the words with their meaning:

a. Matsyanyay i. The law of abnormal times
b. Apaddharma ii. Intending conqueror

¢. Vijigshu iii. Cosmic law

d. Riti iv. Law of fishes

frrafaf@a el # Prage sk 7@ Rwew w1 gamg Afow:



1. ACEY =g i. ITATHT AT FT ATH7

2. JTICErE ii. gTg fastar

3. fafsrry iii. SE-ATONT AT (FITeAD o)
4. 8fq iv. AT T e
Codes/fa®eq:

[Question ID = 26093]

1l.a-iv, b-i, c-ii, d - iii [Option ID = 44368]
2.a-iii, b-ii, c- i, d - iv [Option ID = 44370]
3.a-ii, b - iii, ¢ - iv, d - i [Option ID = 44367]
4.a-i, b-iii, c - iv, d - ii [Option ID = 44369]

Correct Answer :-
e a-iv,b-i,c-ii, d-iii [Option ID = 44368]

50) “Greatest benefit to the least advantaged” is associated with which of the following?

“grraw Reafa arer safFa w1 sftsas o faafaf@a # & fad w531 g3m §2 [Question ID = 26107]

1. The Communist Manifesto / & &gfeiee Afetheer [Option ID = 44423]

2. None of the above / 3TRYed & & Ig 18T [Option ID = 44426]

3. Rawls’s theory of justice / e T =am =T f&gid [Option ID = 44425]

4. Aristotle’s distributive justice / 3E] &1 TaeROTcHS =31 [Option ID = 44424]

Correct Answer :-
+ The Communist Manifesto / & ##gfae Afatheer [Option ID = 44423]

51) IMG

Match the works in list | with the authors in list I

LIST-I LIST-II

a. Hindu-pad-padshahi 1. V.D.Savarkar

b. Wheel of History ii. Pandita Ramabai

¢. Tuhfat-ul Muwahhiddin iii. Raja Rammohan Roy
d. The High Caste Hindu Women iv. Rammanohar Lohia

T | @ g B | G ot @ e

T =g I

a. fRg—ue—ureed it & HeRER

b. & s faw ii. gfear wmarE

c. Qe qeEfee iii. ;AT YEAEE MY
d. T 8% orc fig IFF iv. TATATEY SAlfgar

[Question ID = 26109]

1.a-i,b-ii, c-iv, d - il [Option ID = 44434]
2.a-i,b-iv, c-ii, d - ii [Option ID = 44432]



3.a-iii, b-ii, c-i, d - iv [Option ID = 44431]
4. a-iv, b-ii, c-i,d - iii [Option ID = 44433]

Correct Answer :-
e a-iii, b-ii,c-i, d-iv [Option ID = 44431]

52) Who among the following considered democracy as nothing more than periodic elections and ordinary citizens, beyond the
act of voting, should have no role in shaping policy?

et § 9 o9 98 99 & 5 dieay e MteT awfy © 92 =9 o T9al $ seRaw 39 T 8 8, e
HRIRYT AR & f9% die 39 &1 afReR i 8, it o dar s A et FiE qfier Te e 22

[Question ID = 3072]

TEE T IR

1. Joseph A. Schumpeter / [Option ID = 12288]
T TS
2. Larry Diamond / [Option ID = 12287]

3 feist
3. Juan Linz / [Option ID = 12286]

w o f v

4. Robert Dahl / [Option ID = 12285]

Correct Answer :-

w T w

« Robert Dahl / [Option ID = 12285]

53) Who among the following suggested that ,nationalism can be attributed to the rise of the industrial age”?
frrafaf@a # & s 98 we1 % ' Usgae 1 3Hie@fF o7 & 357 & 91y ST ST FFAT 8 ' ? [Question ID = 26118]

1. Liah Greenfeld / i [Option ID = 44468]

TarT fERr
2. Anthony Smith / [Option ID = 44469]

e TET
3. Ernest Gellner / [Option ID = 44467]

4, Donald Horowitz / o8 gl [Option ID = 44470]

Correct Answer :-

i TE

o Ernest Gellner / [Option ID = 44467]

54) Who among the following said, “caste system is not merely division of labour, it is also division of labourers.”?

rafaf@a & ¥ Fusr g8 w1 F “onfa saavar Rk s 1 Qs 781 8, g sf@w1 &1 oft RAstsrer §1” [Question ID = 26130]

o

1. Jyotiba Phule / [Option ID = 44518]

#1 N RS _
2. B.R. Ambedkar / [Option ID = 44517]

3. Savitribai Phule / = [Option ID = 44516]

4. M.K. Gandhi / . 3. M [Option ID = 44515]
Correct Answer :-

. MK Gandhi; T - TH [Option ID = 44515]

55) Who among the following used models and assumptions drawn from economics to analyse political behaviour?

frfofad & ¥ e Joriftes @aeR & Jedied &9 & foy R @ #Aisd oy Araari &1 swae
fa?

[Question ID = 26120]



1. Anthony Downs / Tt 3T3& [Option ID = 44477]
2. S.M. Lipset / Tg. T#. forefic [Option ID = 44476]
3. J.M. Keynes / 3. TH. HT=d [Option ID = 44478]

4. Robert Dahl / I19€ STef [Option ID = 44475]

Correct Answer :-
« Robert Dahl / (&€ &fer [Option ID = 44475]

56) Who among the following laid stress on the “imagined qualities of nationalism”?

Frferitad o 9 | ugae & wfeud o 9w ge faar?

[Question ID = 3064]

e Tev
1. Benedict Anderson / [Option ID = 12255]

Er. o
2. E. Hobsbawm / [Option ID = 12256]

e e
3. Ernest Gellner / [Option ID = 12253]
4, Hans Kohn / [Option ID = 12254]

Correct Answer :-

FiE AR
« Ernest Gellner / [Option ID = 12253]

57) Who among the following wrote the classic essay, “Science as a vocation”?

ffafen § 9 fowm ofag g wEa U9 o e o on?

[Question ID = 3063]

A9 99
1. Max Weber / [Option ID = 12249]

- =red fedt _
2. Charles Tilly / [Option ID = 12252]

3. Sidney Tarrow / [Option ID = 12251]
W Do
4. Ira Katznelson / [Option ID = 12250]

Correct Answer :-

AT 99
* Max Weber / [Option ID = 12249]

58) Who among the following states, “"Public policy is whatever governments choose to do or not to do"?

o dd fras e oer 2 19 oo IfT =9 90 © 99T 2 15 T9oR &1 o3 &1 B9 o3l 2,
st w1 TE F T DI Fl B

[Question ID = 3056]

#1 Ty ded
1. B.Guy Peters / [Option ID = 12221]

ar

oHY AN, S8
2. Thomas R. Dye / [Option ID = 12223]

sfag g

3. David Easton / [Option ID = 12222]

aE. R

4.Y. Dror / : [Option ID = 12224]

Correct Answer :-

d1 g 9
« B.Guy Peters / [Option ID = 12221]

59) Who among the following scholars conceptualises Indian constitution as a ‘seamless web’?
fArafaf@a # & fra Rgae & arcdy dfRue f Tweuar ‘wAfra Gome’ (HHaw 39) & 37 & A §2 [Question ID = 26095]



1. Subhash Kashyap / §HTY %339 [Option ID = 44378]
2.D.D.Basu/ 3. 3. &9 [Option ID = 44376]

3. Granville Austin / IITaer 31Tt [Option ID = 44377]
4. M. V. Pylee / Ta.dY. 9rgelr [Option ID = 44375]

Correct Answer :-
e M. V. Pylee / TH.4T. 9rIell [Option ID = 44375]

60) Who among the following described India as quasi-confederacy?

frefafiag ¥ o foge 9Rg &1 v aE—uieg & 39 F faar?

[Question ID = 3014]

v

1. Granville Austin / [Option ID = 12055]

2. W.H.Morris Jones / [Option ID = 12056]
B Ol @M
3. K.C. Wheare / [Option ID = 12053]

A dFR
4. Myron Weiner / [Option ID = 12054]
Correct Answer :-

o K.C. Wheare / [Option ID = 12053]

61) Who among the following questioned the claim that Public Administration is a science?

frefafag 8 o foas 39 T &t ueAileg & & die yoe va fage 27

[Question ID = 3053]

ol 3fdd
1. L.Urwick / [Option ID = 12211]

]

HE TES
2. Frank Goodnow / [Option ID = 12212]

3. Luther Gulick / [Option ID = 12209]
i
4. Robert Dahl / [Option ID = 12210]

Correct Answer :-

ESMRIEED
o Luther Gulick / [Option ID = 12209]

62) Who among the following introduced the concept of ‘Zone of indifference’ in an organisation?

frafaf@a # & frea Haree # ‘sarefierar & &' i JaUROT Y YEATT F [Question ID = 26116]

1. Chester I. Bernard / e
i i

2. Chris Argyris / [Option ID = 44461]

AR

3. Douglas Mcgregor / sl [Option ID = 44462]

[Option ID = 44459]

4. Herbert Simon / S R [Option ID = 44460]
Correct Answer :-

e Chester I. Bernard / . E [Option ID = 44459]

63) Who among the following is not a liberal thinker?

fefeftead & § &9 v SeraE! Fas A8t 27

[Question ID = 3084]



1. Michael Doyle / 1% S [Option ID = 12335]

e aee
2. Stephen Walt / [Option ID = 12333]
W O geTEd
3. G. John Ikenberry / [Option ID = 12336]
e Tl

4. Robert Keohane / [Option ID = 12334]

Correct Answer :-

T e
« Stephen Walt / [Option ID = 12333]

64) Washington Consensus refers to:-

qf3iTes AFEsAfT Fafid & -
[Question ID = 3092]
1. The ten point neo-liberal guideline to liberal economic reform for development around the world /
T g F e ® forg SEraE! anfties R @ IR § To—verad! Ry © =w g

2. The ten point neo-liberal guideline to liberal economic reform for development in Europe /

o # e o o genae anftfs R 2 ) ¥ Ta-semaet fRmn-fE w =w fig [Option ID = 12366]
3. The ten point neo-liberal guideline to liberal economic reform for development in the USA /

Tuay F e & o Serard! anféfes R ¢ IR § To—gerad fRm-fEn ¢ 2w T
TET ® 9 BIg A8

4. None of these / [Option ID = 12368]

[Option ID = 12367]

[Option ID = 12365]

Correct Answer :-
« The ten point neo-liberal guideline to liberal economic reform for development in the USA /

7w 7 R @ fon SeRa sl @R # R 4 To-venard Ren-fen s ww iy o e

65) The emergence of Public Administration as a discipline is associated with which of the following:-

TP FEEE & BU H dld YUTEA @1 9ed [EfeREd ¥ 9 foad o g ®

[Question ID = 26114]

1. American Society of Public Administration / 3/RiereT IATILY 3T Tfeersh TsTATAELYST [Option ID = 44451]
2. Indian Institute of Public Administration / 737+ &Erege 3ifth ufSers TsTATAELYE [Option ID = 44454]

3. Minnowbrook Conference / f&i==itssh ith® [Option ID = 44453]

4. Comparative Administration Group / #Rfed TsfAfaregers 7 [Option ID = 44452]

Correct Answer :-
« American Society of Public Administration / 3/ YehsT THIE 3iTH YfeaTeh TsfATAEE [Option ID = 44451]

66) Which of the following is not true of Rousseau?

vl & gN H et 5 @ 921 v T2l 2?

[Question ID = 3031]

£ < . ¥ R Y 3
1. He wants to reconcile liberty with sovereignty / = savgel Eﬁ\? SR o TE?
2. Sovereignty originates in people and gets transferred to ruler /

FE A W 9 Bl o e @ ore gl @ty o
g geeT g9 @ Afte w1 9 wE Bt 2

3. General Will is always morally right / [Option ID = 12124]

9 AT BT FEHRCAS ScH 0 Td &Y & (Option ID = 12121]

[Option ID = 12122]

4. He holds a positive view of liberty /

Correct Answer :-

d AT BT AHRCAS GedhIo TR $9d &
» He holds a positive view of liberty / : ¢ ii‘ [Option ID = 12121]



67) Which of the following is not true of Marx’s view of the state:-

fferfad # o o A & g @ faud @ aR | ww 98 2

[Question ID = 26106]

1. The proletariat will need to capture state power / TAgRT & AsT Tcdl TR Feell HIT 19T [Option ID = 44422]

2. The state is an instrument of class exploitation / T= 3T NYUT T T T== & [Option ID = 44420]

3. The state is necessary for resolving class conflict / g7 TEY T el [AhTelet & o7 T 3MarT & [Option ID = 44421]
4. The state will wither away / T &iR-¢MX @ea g1 STem [Option ID = 44419]

Correct Answer :-
« The state will wither away / T=T ¢fR-¢fiX Wca &1 SIA9T [Option ID = 44419]

68) Which of the following is not the basic principle of Hans J. Morgenthau’s Realism?
Prafafee # @ #ia ¥w X, Anfeus & gurdar #1 g Rgia 82 [Question ID = 26121]
o _ e wEwifAe ifos qeal | g sl 8
1. Politics is governed by universal moral values. /
oty e s @

2. Politics is autonomous / [Option ID = 44480]

o _ Iy AFa usfy F ffgg st g
3. Politics is rooted in human nature / [Option ID = 44479]

ST T & e ® e | ufenfag W ©

4. National interest is defined in terms of power / [Option ID = 44481]

[Option ID = 44482]

Correct Answer :-

o _ I A T § fRT e g
« Politics is rooted in human nature / [Option ID = 44479]

69) Which of the following treaties ended the thirty years war:-

Frafafaa # @ 5w wwsid ° o offg 35 @7 wia g87
[Question ID = 26123]

1. Peace of Westphalia / 3¥chforar & erifar [Option ID = 44488]
2. Treaty of Vienna / faZ=1r &1 @& [Option ID = 44490]

3. Treaty of Utrecht / I¢are &1 |fer [Option ID = 44487]

4, Treaty of Versailles / a&Tr $r @& [Option ID = 44489]

Correct Answer :-
« Treaty of Utrecht / g¢=< T &Y [Option ID = 44487]

70) Which of the following pacts resulted in a compromise between Ambedkar and Gandhi on the issue of separate electorates?

g aTeas Asa & 7 W 3T I e & fiw wosila & FRor S @1 dee @ 3mar? [Question ID = 26129]

1. Lahore Pact / =gt tae [Option ID = 44512]

2. Lucknow Pact / e@s13 tare [Option ID = 44513]
3. Delhi Pact / feeelr SeFe [Option ID = 44511]

4. Poona Pact / 91T Ye/e [Option ID = 44514]

Correct Answer :-
« Delhi Pact / f&eeit Yere [Option ID = 44511]

71) Which of the following is not included in the list of essential elements (Prakriti) of a state as identified by Kautilya?

frafaf@a & & 5 Fiftea @ErT 7o T ve s & gRAAe acat (vf) A g #F afFafad @@t frar smar g ? [Question ID = 26126]

HAT
1. The minister / [Option ID = 44500]

/ﬁ—ﬁﬂaﬂ?WTﬁﬂﬁ@T

2. The territory and its population [Option ID = 44501]
3. Nationalism / [Option ID = 44502]

Q W
4. The ruler / [Option ID = 44499]

Correct Answer :-



AT
e The ruler / [Option ID = 44499]

72) Which of the following does not constitute a central idea of the ,Instrumentalist” school of ethnicity?

frafaf@a # sl s & 'Jwardr (SegeicfoTe) T w1 &= R=r 82 [Question ID = 26119]
TE "HIE T Y e W B 8 [Option ID = 44472]
ITeH s wenl $ We 5N 59 US WoR f&adr 2

2. Is shaped by the ways political institutions are designed / [Option ID =
44474]
3. Is neither inherent in human nature nor intrinsically valuable /

I8 9 @l AFa yfd d wfHiEa slar 2 AR T #1 aifcae 9 | Hegdd B 8
g AgE g & o 2

4. Is a construct of the modern epoch / [Option ID = 44473]

1. Is based on ,shared blood” and ,shared ancestry” /

[Option ID = 44471]

Correct Answer :-
« Is neither inherent in human nature nor intrinsically valuable /

g 9 df AE S | |ffad g 2 e F 21 aifcas v | Hegad g 8 [Option ID = 44471]

73) Which of the following is not a feature of Ram Manohar Lohiya”s concept of ,Sapta Kranti”?

rafaf@a & @ sl o A A i “aea wifa” H FAvar 7€ & ? [Question ID = 26128]

1. Violent revolution / [Option ID = 44510]

Afeant &1 7T

2. Emancipation of women / [Option ID = 44509]

3. Abolition of caste / £ 8 [Option ID = 44508]

. . ARIE A .
4. Economic equality / [Option ID = 44507]

Correct Answer :-

« Economic equality / [Option ID = 44507]

74) Which of the following statements is not true of Hobbes?

B9 & IR | FA=fafad ¥ § $19 91 $2F |98 T8 2
[Question ID = 26104]

1. There is no occasion for disobeying the sovereign / H53] T 3TAT UTeleT o &el T IS AT w761 81ell & [Option ID = 44413]
2. Sovereign is a product of a pact / H8] Teh HHSHA { 3cU==1 giell & [Option ID = 44412]

3. Sovereign must be absolute or nothing / Fw8y AT & 3/ 1T & IT He oY g1 gl & [Option ID = 44414]

4. Law is command of the sovereign / FTe[sT HY] & 3MEW & [Option ID = 44411]

Correct Answer :-
 Law is command of the sovereign / Shlefel H'l;rag T 37T & [Option ID = 44411]

75) Which of the following statements best describes the scientific character of Comparative Politics?

frrfafan 9 9 @9 9 $eF g Ao @ e TRE ST Had Al TE 9ud ST 87

[Question ID = 3050]

1. Comparative political analysis is basically reducible to ideology and opinions /

Ao e favetaer qfrrel $u | faamemrr ok faemt 4 gemn o @@ @

[Option ID = 12200]
2. Comparative political analysis is a type of science that probably cannot produce knowledge of the same degree of certainty as in the physical
sciences /

TS o fagayer fas= &1 U@ 9 YR B W e Aifte fasm &) fAfeaa @ 'R &1 9=

I 21 B IFHal &
[Option ID = 12198]



3. Comparative political analysis is a non-explanatory mode of science /

e T fagetaer s @1 AR—arae gone! 8
[Option ID = 12199]

4. Comparative political analysis is just like the physical sciences in its ability to produce certain knowledge /

o A io® e FiEa 96 S99 &9 @ AW | Aifs fage 31 T 2

[Option ID = 12197]

Correct Answer :-
« Comparative political analysis is just like the physical sciences in its ability to produce certain knowledge /

TS I 1fos ety Fi¥Ed 96 S@= 31 @ AW | Hifoe fos@ @1 &=e 2

[Option ID = 12197]

76) Which of the following statements are correct with respect to the Global Commons:-

i. These are areas not under sovereign jurisdiction.

ii. They have an environmental dimension.

iii. They are owned by nation-states.

iv. The high seas, deep ocean floor and outer space come within this category.

g BAE ® TR A FEfafag #§ 8 F9 | w0 a8 87
i T 3 89 § W 9 & AREn—&7 7 T8 §
ii. $H1 U vAfaveig S B
iii. T W WS B W B

1v. T=9 g, e WS O R 9IS W g9 #vl H I ©
[Question ID = 3089]

% 1, 11 @i 1V
1.i,iiandivonly / [Option ID = 12354]
fa® 1, 11 st il
2. i, ii and iii only / [Option ID = 12355]
1, 11, 1ii iR 1v
3.1, i, iiiand iv / [Option ID = 12353]
e 11, 111 v v

4. ii, iii and iv only / [Option ID = 12356]

Correct Answer :-
1, 11, 111 3= 1v
e i, ii,iiiand iv/ [Option ID = 12353]

77) Which of the following propositions is not found in Classical Realism?

Felllehel GuRiare & F=ifaiag § § S4 9T =g 9rar @ 27

[Question ID = 3081]

1. The structure of international politics is anarchic / d4-:1-<|b;ﬁ?:l RIS BT W SR & [Option ID = 12324]

2. States act on the basis of their self interest / { w—fed @ 3 SRE e ﬁ [Option ID = 12323]
BT =T armumon &1 vfeT & WeW | ufenfye feam o §

3. The concept of interest is defined in terms of power / [Option ID =

12322]
IR B P FT e e g § FifeT eR 8

4. The laws of politics have their roots in human nature / [Option ID =

12321]

Correct Answer :-

oY & Mt 31 gfae w9 et o fRd s @

« The laws of politics have their roots in human nature / 2
12321]

[Option ID =

78) Which of the following propositions is not given by the theorists of Complex Interdependence:-



e sgtdva & faeioer g f=ifafag § 9 = 91 g A2 faar T 2

[Question ID = 3080]

IR eI $ R A g B 3T 8

1. There is an absence of hierarchy among issues of international politics / [Option ID

=12319]

eI Yo § O wiieT BT 959 Diel qEe st 8

2. There is a minor role of military force in international politics / [Option

ID = 12320]

- AT UF GEAE AL
3. The state is a unitary actor / [Option ID = 12317]
fafaer =maei @ T o 5 B

4. Multiple channels connect societies / [Option ID = 12318]

Correct Answer :-

« The state is a unitary actor / [Option ID = 12317]

79) Which of the following authors gave the concept of the ‘Tragedy of Commons’:-

Fr=forfia # | 5w o 7w ) e (SRl ofe $FH) &1 TR TR $17

[Question ID = 3085]

T g
1. Jon Barnett / [Option ID = 12340]

5 )

SR EFRIET
2. James Lovelock / [Option ID = 12339]

e s

3. Garrett Hardin / [Option ID = 12337]

FTe AT

4. Carl Sagan / [Option ID = 12338]

Correct Answer :-

e BEF
« Garrett Hardin / [Option ID = 12337]

80) Which of the following was not a distinctive feature of the dharmasastra tradition in India

forfarfiag & @ o9 9 & gdere gdaw 21 faftre faemer 87 2

[Question ID = 3094]

fagmt 7 o @1 vy ok Fifet W am oieg o g

1. Scholars concentrated on the nature and mechanics of power /
[Option ID = 12375]

2. Scholars of the tradition discussed the sources of dharma / 29 1 SR g EELiE: CUCARECER IR [Option ID =
12373]

3. Scholars provided a detailed prospectus of duties / A i @ I 5 %\

4. Scholars provided a detailed code of conduct covering the entire human life /

g™ 9 S99 A9 Giad &I GHed gl oy e |ied 9uee S48 ©

[Option ID = 12374]

[Option ID = 12376]

Correct Answer :-

« Scholars of the tradition discussed the sources of dharma / FH WA £ E’Iéi = o % el B e B _g [Option ID =
12373]

81) Which of the following is true:-

frforfiag & & &9 |1 99 9 & -

[Question ID = 26124]



1. Both globalists and skeptics believe that the states are losing their power in the globalized world / Rasardy 3R Tegard)- alar & AT & &
Fediepet faea # T 3=l AfFd @ 38 § [Option ID = 44493]

2. Globalists believe that the role of the state is eroding in the present times / 3Raeardr I AT § & Tt G 3 T Fr $1fHHT &7 &RoT &
T8T & [Option ID = 44491]

3. None of the above / 3TRIFd & & F1S &7 [Option ID = 44494]

4. Skeptics believe that the role of the state is eroding in the present times / HEgaTal AT ¢ o TTHTT THT 3 T HT $1fHHT T &ROT 8T W &
[Option ID = 44492]

Correct Answer :-
+ Globalists believe that the role of the state is eroding in the present times / 3fRaeraTél Ig AT § & TTATT THAT T T Y HAHT 1 &R
81 T&T § [Option ID = 44491]

82) Which of the following level of analysis is not discussed by Waltz in his book Man, The State and War:-

dfeew & AU TEE 4 § e 07 a7V g eteiad # W few R @ fageyor 92 i 2
[Question ID = 3077]

1. State level / Ha [Option ID = 12307]

foas W (smfes oaw)
2. Dyadic level / [Option ID = 12306]

wfTa Wi
3. Individual level / [Option ID = 12308]

UUTTe AT Y
4. Systemic level / [Option ID = 12305]
Correct Answer :-

T FTe &%
« Systemic level / [Option ID = 12305]

83) Which of the following is true?

friferfiaa & § 901 W9 £7

[Question ID = 26127]

1. Both Gandhi and Tagore regarded nationalism as a menace / 71efy iR 23N~ ST & Isgare I Ueh IS 3 T H 2@ [Option ID = 44504]

2. Both Gandhi and Tagore advocated the use of charkha / 3Tl 31X 29NX- Q=T o TRW@T & ITANIT T FABGRY ¥ [Option ID = 44503]

3. Tagore disagreed with Gandhi“s programme of non-cooperation / 3R = 3Tel & 3THEANT FTIshaT T AT TS [Option ID = 44505]

4, Tagore supported the use of violence while Gandhi opposed the use of violence in freedom struggle / ¢3TR & Tad=dr & Tay & a1 & 39T
T gAAS o gl airelr & Rar & Iuater &1 e faar [Option ID = 44506]

Correct Answer :-
« Both Gandhi and Tagore advocated the use of charkha / aITelY 31X aX- it & TRW@T F YT T TRBERT HT [Option ID = 44503]

84) Which one of the following is true about the First World War:-

i. It was the first modern, industrialised total war.

ii. It was fought between 1939-1945

iii. It began between European States and fought on European Battlefields.
iv. It is also known as the Great War.

WM fizg 98 @ 9N ¥ Frefoftag § o o ad 59 £ -
ii. TE 1939—1945 & dT= of el AT
iii. e qEdfE wwuf © = o @ iR @iy © gg—ea & 49 |@eT T
iv. 30 98M g & T ® 41 WE o B

[Question ID = 3087]



o 1, 1 afiv iv

1.i,iiandivonly / [Option ID = 12348]
w1, 1 s il
2. i, ii and iii only / [Option ID = 12345]
o % 1, 11 siv 1v .
3.1, iiiand iv only / [Option ID = 12346]

1, 11, 111 & 1v
4.1, ii, iiiand iv / [Option ID = 12347]

Correct Answer :-
faw 1, 11 @il
e i, ii and iii only / [Option ID = 12345]

85) Who gave the ‘domino theory’ about the geopolitical consequences of the victory of Vietminh during the cold war:-

T g2 3 997 fagafrs =) o @ —Torifas =dien & IR § ‘sifét fgia o on -
[Question ID = 3078]

e ared

1. Bernard Baruch / [Option ID = 12311]

WEE e
2. Joseph Stalin / [Option ID = 12310]

Tl B

3. President Kennedy / [Option ID = 12309]

Tl ASElaY

4. President Eisenhower / [Option ID = 12312]

Correct Answer :-

* President Kennedy / [Option ID = 12309]

86) Who first described Congress hegemony in India in terms of one-party dominance?

Fad UEdl fhd IR H SIUE & g9 Bl T8 YT & ©9 H giofd fdar?

[Question ID = 3015]

)

Bl RCIES! .
1. Paul Brass / [Option ID = 12060]

T B .
2. James Manor / [Option ID = 12059]

EEEIRCASIE

3. Rajni Kothari / [Option ID = 12057]
4. L.Rudolph& S. Rudolph / 21 TSIk R TH. TSI [option ID = 12058]

Correct Answer :-

TAAT BISHI

« Rajni Kothari / [Option ID = 12057]

87) According to Foucault power-knowledge relationship is:-

FHl B ITAR, E—a & G & @o 7497 8 -
[Question ID = 3091]

1. Independent / [Option ID = 12361]
TRE H# ° SIE A5T
2. None of these / [Option ID = 12364]

3. Mutually Constitutive / [Option ID = 12363]



4. Contradictory / ifd [Option ID = 12362]
Correct Answer :-

« Independent / [Option ID = 12361]

88) According to the “Hind Swaraj” the major obstacle to Indian Self-government is:-

“feT W & OER RAE WU @ IR H T G R/

[Question ID = 26110]

1. British Government / fsifesr @& [Option ID = 44436]

2. Extremist politics / faaTgr Tsteiifa [Option ID = 44437]

3. Indian elites / TR 31fH<T=T [Option ID = 44438]

4. Sectarian Nationalism / Fe eI Irsgare; [Option ID = 44435]

Correct Answer :-
+ Sectarian Nationalism / Heferct Irsgare [Option ID = 44435]

89) According to Kautilya ,Danda” is the symbol of:-

Hifees & I ER <% 90F &

[Question ID = 3102]

1. Discipline / [Option ID = 12408]
1s .
2. War / [Option ID = 12405]

=8
3. Punishment / [Option ID = 12406]

) T )
4. Sovereign / [Option ID = 12407]

Correct Answer :-

90) According to Pradeep Chhibber, “weak associational life” in India results in:-

T fEeat & AR R A "FHIN Heaicatsh ShaeT” HT Acion frafarad & & B 39 7 @ 3mar ¢ [Question ID = 26100]

aHfAE Uol! BT
1. Consolidation of social capital / [Option ID = 44397]
e ufeefiw o=y
2. An activist State / [Option ID = 44395]
3. Fragmentation of the party system / AT T TR [Option ID = 44396]
Il P A T
4. Change in electoral law / [Option ID = 44398]
Correct Answer :-
TEh Ufdefae T
« An activist State / [Option ID = 44395]

91) According to L. Rudolph and S. Rudolph, caste in India fosters democracy for all of the following reasons except one.
Identity the exception.

Td. BSich SN TW Bsich © FAR, WNd A Wifd Fefalead § ¥ 16 &1 sigay w4 dRol 3
cllepdi=l @I dglal ol & | 3vare &) Ygar B |

[Question ID = 26099]




1. Produces a new set of caste leaders / SiTfel A3l T Ueh oAT HHE IR AT & [Option ID = 44392]

2. Ensures affirmative action policies by the state / s GIRT HehRTcHH HIETS T AT I iATSIT el & [Option ID = 44393]

3. Makes caste a sacred rather than a secular entity /STTfcl T ¥el & ST gfad Fefg & gRafeld T et & [Option ID = 44394]

4, Tt capacitates a politically illiterate mass electorate to organise / Ig JSTeidieh ¥T I ATER AJGIAT3T & 93 TFTH P TITST glel T &THAT TeTeT
T § [Option ID = 44391]

Correct Answer :-
« It capacitates a politically illiterate mass electorate to organise / Ig JsTeiliae TT & THTER ASIAT3N & g3 REY Tl Tfdd glet I &77ar
UeTeT FIT § [Option ID = 44391]

92) According to Aristotle, the state is the highest association because:

] B SER, I Uh Hdied WEdd (THIfATEE) € w@ife

[Question ID = 26102]

. it aims at moral fulfilment of citizens / SHT A& AR & e qUTAT gXaT § [Option ID = 44405]
. it ensures economic self-sufficiency / Tg 3TcH-fA8RaT GRATSTT F:er & [Option ID = 44403]

. it undertakes distributive justice / Ig faaRUTcHS =TT T HTH HIAT & [Option ID = 44406]

. it possesses sovereignty / & UTH HusIeaT 8Icl & [Option ID = 44404]

A WN =

Correct Answer :-
+ it ensures economic self-sufficiency / Ig 3iTcH-faeiRar GiATSad aT & [Option ID = 44403]

93) The terms ‘Command Polity’ and ‘Demand Polity’ were coined by which of the following political thinkers:-
rafaf@a 7 ¥ Fa oeifas Rans 3 '@aha e (F#AiE 9ifed) 3R A arwe (B#iE gifad) ereame $1 Tod gger 39U fHar §?

[Question ID = 26097]

1. Francine Frankel / $F&ta $haher [Option ID = 44384]

2. D. L Seth / 31, Tel. &3 [Option ID = 44383]

3. L. Rudolph & S. Rudolph / Tel. %afew 3R Td. $8Tew [Option ID = 44386]
4, Rajni Kothari / ToT=ir IGRT [Option ID = 44385]

Correct Answer :-
o D. L Seth /2. wal. ¥ [Option ID = 44383]

94) The Saptanga theory of state is described in which of the following texts?

s &1 wa fagia Fafeafaa 4 9 fow gwe |9 affa 27
[Question ID = 3041]

FIELLE
1. The Brahmanas / [Option ID = 12162]

feroy eystferer qeror

2. The Visnu Dharmottara Purana / [Option ID = 12161]

3. The Arthasastra / ST [0ption 1D = 12163]
e M

4. The Digha Nikaya / [Option ID = 12164]

Correct Answer :-

« The Visnu Dharmottara Purana / ] [Option ID = 12161]

95) The Ninth Schedule to the Constitution was added by which of the following amendment:-

frrafaftad waem g wfaum # i o @1 Wit
[Question ID = 3013]

IR E|

1. First Amendment / [Option ID = 12050]



EYar geneE

2. Tenth Schedule / [Option ID = 12051]

R
3. Seventeenth Schedule / [Option ID = 12052]
4. Fourteenth Amendment / [Option ID = 12049]

Correct Answer :-

« Fourteenth Amendment / [Option ID = 12049]

96) The theory of "just war” can be attributed to which of the following:-

o

frr=iferfiad & © fore “=mowTa 98 &1 fagid s fHar?

[Question ID = 3070]

1. Immanuel Kant / EARSE] [Option ID = 12278]

)

aftel BTelweT
2. Ole Holsti / [Option ID = 12280]

155)
3. Hans Morgenthau / [Option ID = 12279]
4. Samuel Pufendorf / 5@ TPTSIP  [option 1D = 12277]

Correct Answer :-

» Samuel Pufendorf / ik SR I; S [Option ID = 12277]

97) J.Mill's harm principle states that:-

. vy, AT 1 a1fy Rgia Fear ¥
[Question ID = 26105]

1. Prevention of harm to self is found for restricting liberty /

e B THAM Tear! | e & ol Weaar ) gy 0 off 96 © _
[Option ID = 44416]
2. Prevention of harm to others is the only ground for restricting liberty /

fa% o Al $ THEH Tear 9 WP & fory Vol R uiaey i En o §ad §
®7E Wl f 0RE U gg 9 et & =2 g @

[Option ID = 44417]

3. There are no purely self-regarding actions / [Option ID = 44415]

ST wT

4. All of these / [Option ID = 44418]

Correct Answer :-

« There are no purely self-regarding actions / Hﬁ?; il q‘ﬁ kil @ ki P TET § _‘g [Option ID = 44415]

98) The notion of "Administrative man” was coined by:-
“qrEfAF cAfFd”’ 1 FTURUN & Fa14T: [Question ID = 26113]

dqd a9

1. Max Weber / [Option ID = 44447]

2. Dwight Waldo / i [Option ID = 44450]

e Th. 2o

3. Charles F. Taylor / [Option ID = 44448]

HigHA
4. Herbert Simon / [Option ID = 44449]

Correct Answer :-

LESRCER

* Max Weber / [Option ID = 44447]



99) Who is the author of the book, "Silent Spring” ?

“@gee Tfiar fhae & 9@® HiT § ? [Question ID = 26131]

T ST
1. Rachel Carson / [Option ID = 44519]

ESIES]
2. Naomi Klein / [Option ID = 44520]

3. Henry A. Kissinger / i [Option ID = 44522]

TS STEUE
4. Jared Daimond / [Option ID = 44521]

Correct Answer :-

A B
« Rachel Carson / [Option ID = 44519]

100) Makkali Gosala belonged to which of the following traditions of Indian thought?

HawTel M fefefag § 9 yrdin [aa £ e wow 9 gefog 27

[Question ID = 3039]

1. Determinism / [Option ID = 12155]

2. Materialism / [Option ID = 12156]

e

3. Jainism / m [Option ID = 12153]
4. Buddhism / 318 T [option 1D = 12154]

Correct Answer :-

o= e

o Jainism / [Option ID = 12153]



